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Mission Indradhanush’; launched in the year

2014is:

(1) To provide affordable and quality
healthcare to the rural population.

2 To provide education to the deprived
children.

(3) To provide information, commodities
and service to meet the diverse need of
adolescents.

(4) To cover children who have been
partially or not vaccinated during
routine immunisation rounds.

(5) Not Attempted

Appam, Puttu and Idiyappam - food items,
belong to which State of India ?

(1) Orissa
(2) Kerala
(3) Punjab

(4) Gujarat
(5) Not Attempted

‘CE’ refers to :

(1)  Common Era

(2) Casual Era

(3)  Coast of Egypt

(4) Common Estimate
(5)  Not Attempted

‘Lugda’ is a kind of which one of the following
that is worn in Chhattisgarh ?

(1) Ornament

(2) Footwear

(3) Saree

(4)  Dupatta

(5) Not Attempted

Bihu’ festival is celebrated in which Indian
State ?

(1)  Uttar Pradesh
(2) Assam

(3) Karnataka

(4)  Punjab

(5)  Not Attempted
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7.

mmﬁmwﬁm%7
(1) fee=h

(2) @&
@3) 37
4) s

(5) I A T =

8. y=tH Bemamy?

(1) ¢ 9371 %
2) 2371fF.
(3) 6371f®d.
(4) 8371 fR.
(5) I T ==

9. STV 2011 % IFTER, W I e T :
(1) 880
(2 830
(3)- 73.0
4) 780
(5) ST & A

10. ‘fafew siva =1 3foer’ T&e % oEd w1 2

6. What is the full form of ‘MAA’ programme ?
(1) Mother And Adolescent

(2)  Menstrual hygiene Among Adolescent
girls

(3)  Mother’s Absolute Affection

(4)  Mother’s Absolute Attention

(5) Not Attempted

s Where is Jamia Islamia University situated ?

(1)  Delhi

(2) Lucknow
(3)  Aligarh
4) Bhopal

(5) Not Attempted

8.  What is the radius of the earth ?

(1) 9371 km
(2) 2371 km
(3) 6371 km
(4) 8371 km

(5)  Not Attempted

9. As per Census 2011, the literacy rate in India
is:

(1) 880
2) 830
@) 730
@) 780

(5)  Not Attempted

10. Who is the author of the book - ‘A History of

- 3 British India’ ?
o o (1) Lord Mountbatten
(2)1 e (2) Lord Curzon
@ = f (3)  James Mill
(4) At ™ (4) Warren Hastings
(5) S & ARl (5)  Not Attempted
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11.

12.

13.

14.

15.

fava qataro feam wem@T ST R
(1 5w

@ 73

3 59

@4 7

(5) SWTE A =R

WA WA F T TSR § w9 3 fHen s
a2

(1) e e

2 VAR A A

@) . TR

(4) TR TEE e

(5) SWIE T A

9 F IR SR fem W w wea ¥ -
() =S

(2 ey

@) &=

4 wEE

(5) SWAE A AR

YA & forg T s w6 2
()" 1947

(2 1951

(3) 1930

4) 1950

(5) IR & A |

Frefafaa § 4 #H-91 FEF 94 TEd e
forererdi § & foran T fore siata =i 1

11.

12.

13.

14.

15.

World Environment Day is celebrated on :
(1) sthJuly

(2) 7% July

(3) 5t June

@) 7% June

(5)  Not Attempted

Who served as free India’s first Governor-
General ?

(1) Maulana Azad

(2) Jawahar Lal Nehru

(3)  C. Rajagopalachari

(4)  Sardar Vallabhbhai Patel
(5)  Not Attempted

The earth is surrounded by a layer of gases
called :

(1)  Atmosphere
(2) Climate

(3) Ozone

(4) Environment
(5)  Not Attempted

Which year did India attain freedom ?

(1) 1947
(2) 1951
@) 1930
@) 1950

(5) Not Attempted

Which one of the following refers to the
programme introduced in all government

T ¥iISH WeH fRa g ? elementary schools to provide children with
) 3t e, 3 TR cooked lunch ?
{ : (1)  Beti Bachao, Beti Padhao
@ i o SAaE (2) Sarv Shiksha Abhiyan
'3) et e (3) Mahila Samakhya
(4) A T (4)  Mid-day meal
(5) I T & | (5)  Not Attempted
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16. frefafad § & - wefa yfaaa@ T 22 | 16, Which of the following is not a terrestrial
. habitat ?
(1) aafam
@  wEF b (1) Rainforest
@ e (2)  Grassland
(3) Pond
) (4) Desert
(5) I & e | (5)  Not Attempted
17. s farelt =afer 1 g & FA A BLL, DI | .
. If a person’s kidney stops working. They
T F1 FH g g (heet A S 8, e o cannot survive unless their blood is filtered
Shfaa &t & T T qiswa HEeT § by artificial kidney. This process is called :
(s Procel (1) Transpiration
@) feE (2)  Elimination
@ Y (3)  Excretion
“@ S (4)  Dialysis
5 I & (5)  Not Attempted
- PN 7 et T 22 18. :J\tf_}tx_ll;:: ;f the following is not the characteristic
(1y o g F e S e ﬂf R . (1) Long backbone with cylindrical body
@ ﬁi};"%ﬁ o # fa i g (2) Head and tail smaller than the middle
| portion of the body.
(3) Hue () =1 ufeafd (3)  Presence of fins
@) fi =t sufeafs (4)  Presence of gills
(5) SR TE | (5)  Not Attempted
19. frefafea aﬁﬁfﬁ%«m . 19. Match the following :
(U] () m (m
(A) T (I  FESRE (A) Lamina ()  Weak stem
®) ‘Tqﬁ ) . (B) Petal (II)  Ovary
© ety et o (C) Pistil (IIT)  Leaf
D) e ) (D) Creeper (IV)  Flower
(1) (A)-(V), (B)-(11), (O)-(I11), (D)-(1) (1) (A)-(V), (B)-(I), (C)-(TID), (D)-(1)
2r  (A)-), (B)-(I11), (C)-(IV), (D)-(1) (2 (A)-(), (B)-(1), (C)-(IV), (D)-(1)
©B)  (A)-(1m), (B)-(1v), (O)-(11), (D)-(1) () (A)-(m), (B)-(IV), (C)-(11), (D)-(1)
(&) (A)-(1m), (B)-(11), (C)-(1), (D)-(1V) (4) (A)-(1m), (B)-(11), (C)-(1), (D)-(IV)
(5) WAL I A (5)  Not Attempted
VNATH/F1 3% B & feTw T&Tel / SPACE FOR ROUGH WORK Page 5



20. frAfafes § & f5as 3aeT § 9 &1 yam figm | 20, Yeast is used in the production of :
ST & 2 (1) Alcohol
(1) 3eFEd (2)  Hydrochloric Acid
(2) EESERE I (3) Sugar
(3 = (4)  Oxygen
(4) T (5)  Not Attempted
(5) SR e
21. Deficiency of _____ causes beri-beri
- N . disease.
&t ‘aﬁw3ma’n~éﬁa}wﬁgﬁg‘ (1) Vitamin C
W fefe c (2)  Vitamin D
(2 fsaf==D (3)  Vitamin A
(@) T A (4)  Vitamin B1
(4) fef=B1 (5)  Not Attempted
(5) SR T e
22. Match electrical component giyen .in
22. ®WW-19f3 T fogn seosi w1 v - i e mo g:ll‘::;n I—I :x with the symbol given in
T R & e Column - I Column - II
-1 Bt (A)  Electric cell n  ——~
A)  foge &= nm
s (B)  Switch in ‘ON’ (1) @
B) ‘s e E fEm (1 _@ B
position
(© fagases () e (C)  Electric Bulb ) —e—
D) F=H V) —~— (D) Battery v -~
@ fawe ?jﬁ?l : Choose the correct option :
1) (A)-(V). (B)-(1). (C)-(I), (D)-(1]) (1) (A-av), B)-), (O)-(11), (D)-(
(2)  (A)-1V), (B)-(III), (C)-(1T), (D)-(I) @ (A)-aV), (B)-(I), (C)-(11), (D)-(1)
(3)  (A)-(1), (B)-(11), (C)-(I11), (D)-(IV) @3 (-, B)-(1), (O)-(IL), (D)-(IV)
@ ‘AHHI}»(BW)’- (E:{E5: P (4)  (A)-(1m), (B)-(1), (C)-(1D), (D)-(IV)
(5) STCTE < A (5)  Not Attempted
23. 3 A A F 23. Hepatitis ‘A’ is caused by :
(1 Fa= (1) Fungi
(2) ST (2)  Protozoa
@) i (3) Bacteria
(4) fammy (4) Virus
(5) I TR A A | (5)  Not Attempted
Page 6
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24.

25.

U TSR W T & e A 1 7 ™
1 =t i wfafar % A e 77 2
(1) 50 Hifrer

(2) 75"z

(3) 100 Hrdtz

4y 25 Hie

(5) S AR 2 e |

4 2016 § yra WFW 3 T feom

24.

A boy is standing at a distance of 50 cm from
the plane mirror, What will be the distance
between the mirror and the image ?

(1) 50cm
(2) 75cm
(3) 100 cm
(4 25cm

(5] Not Attemnpted

e T s e 7 | 218 200 Gt
& fFm mn 3 which a proper Sewage disposal have been
(1) == 9 started.
(2) T (1) Swachh Bharat
@ s (2) Namami Gange
@ v (3)  Ujwala
(5) I A =R (4 Udaan
(5)  Not Attempted
26. WA F SR HAw 3
A F STEvEET TE A § 26. No medium is required for transfer of heat by
) wEE the process of
P S (1) Convec.non
@ s (2) Trans?uauon
@ :i: zad;atmn
onduction
(5) ST & A (5)  Not Attempted
27. den el | B ATt s
= 27. - and are water borne
diseases.
(1) el i (1) Scurvy and Cholera
() fer o frdpe (2)  Polio and Rickets
(@) S SR Ao (3)  Typhoid and Meningitis
(@) 8- i A (4)  Beri-Beri and Dysentery
(5) W 1 = (5)  Not Attempted
28. ‘li§ﬁ} T — & v o 28. Earthworms breathe through their
(1) TS (1) Gills
(2) = (2) Skin
@) - R (3) Lungs
(4)  vamAfaE (4) Tracheae
(5) W E =R (5)  Not Attempted
VNATH/F1 ¥ et 3 fere 2armeT / SPACE FOR ROUGH WORK Page 7



29. s W W o F FEer § R Hgsi M | 29, The property of metals by w

Fes gael TR S 9§

(1) =@

(2)  FeAam

(3) =

(@) wfafsan sma

(5) SWE T AR
30. FEE HUE.SE. TE F 2

(1) =T

(2" sm=

(3) ™

@) foomm

(5) SW R T
31. fawm w1 5= i -

(1) 3
2 ==
@p =
(@) TS

(5) ST MR

32. T 3R 3HF A 4 Frepd 1 s fegmed | few
U FA 1 WA TG € AR F G I6@ 9 Y
e & # 3 wdm @ §, fof w1 FE-w
e fou T el & SaR W T w9 A Freem
g/t
I -

TR TR FAE |

TS FAGAIAF 2 |

e -

L 9 IHR @ F |

O FPFIIARLI

(1) fred 1 3R 1 2 e €
) A frerd 1 3R A & 1 fAeper 21
@y Fae frerd 1 fem

@) Faa fepd 1 fram 21

(5) ST A

30.

31.

beaten into thin sheets is called
(1) Ductility

(2) Malleability

(3)  Conductivity

(4)  Reactivity

(5)  Not Attempted

The SI unit of mass is :

(1) pound 34.
(2) ounce

(3)  gram

(4)  kilogram

(5)  Not Attempted

Find the odd one out :

(1)  Potato

(2) Tomato

(3)  Ginger

(4) Carrot 35.

5)  Not Attempted

Two statements are given, followed by two
conclusions I and II. Assuming the
statements to be true even if they seem to be
at variance from the commonly known facts,
decide which of the conclusions logically
follow/follows from the given statements.

Statements :

All animals are dogs.

Some dogs are dangerous.
Conclusions :

L All animals are dangerous.

.  Some dogs are animals.

(1) Both Conclusions I and II follow.
(2)  Neither Conclusion I nor II follows.
(3)  Only Conclusion I follows.

(4)  Only Conclusion II follows.

(5)  Not Attempted
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hich they can be 33.

36.

VNATH/F1

e wh B Fewm § CovET B FRYHW’
foran st 2, @ 3 w4 wipE ) P forn
S 2

(1)  KLEI

(2) KGEF

(3) KLEF

(4r  KLGH

(5) I T N AW

@wﬁﬁmﬁmﬁﬁgm@g%. T amEd
T # 135° 9 9 ¥, 3% A" <ot fan &
90° T W ¥ 1 37 Io e fohe femn 1 %2

(1) SW-ufrem

(2) =

@ SR

@) W

(5) SR AW

MWQ,REFFFEH ML, & Q, R
YRR Heiferd 3 7

(1* 9=

() /AR

@ T

(4)  ==ET/AE

(5) ST A

A St 3t % we F1 srematier w A fon
1 Hensl F 30 Haew &1 v A e s
1R 1 Fafeerd HT T ey = |

C P K T O E

1 2. 3 4 5 &6

(1). 2,51,3,6,4

2 4,1,5,2,3,6

@) 3,51,4,2,6

@ 21,5,3,6,4

(5) W T =

36.

If in a certain code, ‘COVET’ is written as
‘FRYHW’ then how will HIDE’ be written in the
same language ?

(1)  KLEI

(2)  KGEF
(3) KLEF
4)  KLGH

(5)  Not Attempted

A man is facing North direction. He turns
135° in anticlock-wise direction, and then 90°
in the clock-wise direction. Which direction
is he facing now ?

(1)  North-West

(2) West
(3)  North-East
(4)  North

(5)  Not Attempted

If ‘Q’ is brother of son of R’s son, then how is
‘Q’related to R’ ?

(1)  Grandson

(2) Cousin
(3)  Son
(4)  Uncle

(5)  Not Attempted

A set of English letters is given below in a
Jumbled order. Select the combination of
numbers so that the letters arranged
accordingly will form a meaningful word.

C P K T [0} E
1 2 3 4 S 6

() 2,51,3,6,4
() 4,1,52,3,6
) 3,51,4,2,6
4 2,1,53,6,4
(5)  Not Attempted
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37. form wHR feeier = ey g @ ¥, 39 wew g | 87, Kilometer is related to Distance in the same
RS way as Newton is related to : 41. TF ZH 550 M M gh 1 forrz A 71 A £ 7AfE | 41, A truck covers a distance of 550 metres in
e gefua ® 7 : Fore s @ 33 fRf. %1 gh 45 fre o @1 w2 7E 1 minute whereas a bus covers a distance of
1y wEd (1) orce A i R S R ) 33 kms in 45 minutes. The ratio of the speed
ma (2) Momentum 1 3:5 of the truck to the speed of the bus is :
(2) . 3:5
N (3) Acceleration (2 5:3 :]2: ; : ;
3) =/ .
@) (4) Density @ 3:4 3 3:4
i @ (5)  Not Attempted W 4:3 P
” 5) I A & A N
(5) ST WA ® (5) Not Attempted
38. If 25t of August in a year is Thursday, then af% 45 — (28 — (37 — (15— )] = 58
s, e e € 25 s W e & 5w T H how many Tuesdays will be there in that 2 " (28137~ (15-)| =58 F, W xF T | 42 1745 (28— (37 — (15— x| =58, then the value
. 2 e month ? ° of xis
e SR a4 - 19 1 19
1y 4 @ 29 2 29
(2) 6 =
@ 6 B @) r‘iz @ -29
@ 3 @ @~ i @ -19
@’ @ 5 (5) W e | (5) Not Attempted
5) Not Attempted
(5) WG A | ( - :
43. gé’mmﬁﬁwmmﬁsmaﬁm%v The radius of a cylinder is 5 cm more than its
) o e Hl Gk I8 A% 792 = HEHE T, @1 height. If the curved surface area of the
39. @ T sfEe H1 SN 9T W SR < 39. Find the next term of the series : < ST (¥ W ) 2 cyl}nder is 792 cm?2, then the volume of
11, 12, 16, 25, 41, _2 11,12, 16,25, 41, 2 (1) 5544 cylinder (in cm?) is :
o 69 o (1 69 (2)- 5306 l;’ 2544
306
2 72 (2 72 (3) 5712 (2) 53
& & @) 5244 @ 5712
3) 65 § -
@) (5) S &) 5244
“@° 66 4) 66 (5) Not Attempted
(5) S T (5)  NotAttempted 44, HERO ST F R WA B 12 TR AT | 4, o
A e . At what rate of simple interest will a sum of
v . o T &l ! money doubles itself in 12 years ?
. GraE=A B D @1 E I & 3R fe FF 40. Five children A, B, C, D and E are standing in
- # A" & E . ﬁu‘ag ﬁll;* a row, facing North but not necessarily in the (1) 81% ) gl%
i H WL T, E‘ ¥ ! Wﬁ? n W L same order. ‘C’is to the right of ‘E’and to the 2 2
©, B HTE AR A A, FAE AL A FDF left of ‘A”. ‘A’ and ‘D’ have one child between 1
Fedrw e R FTAT FAE? them. Who is in the middle of the row ? " 95% @) 9%%
1’ B (1 B 1
@2 A 2 A @ 8% @ 8t
@ E @ E X N
@4 C @ c @ 83% @ 8 ;
(5) I AA = | - (5)  NotAttempted (5) ST & = | (S)  Not Attempted
VNATH /F1 6 Z211e / SPACE FOR ROUGH WORK Page 10
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4. ATEN2: 3 ¥ WA AT AT 1059, | 45,

A A Hed B -

(1 50,75

) 24,36

(3) 20,30

@) 32,78

(5) SWE I =)

46. Amsﬁm:%22‘5003m%35,oooﬁ%mm 46.
T SR W 9% 27,600 F pe e A B
‘W’l%:

(1r 216,800
2) ¥19,200
(3) 10,800
(4) < 14,400
(5) SWTE I =wI

47. A 9 s & fawol =1 o v S o 47
25 TR T 168 =1 =X T, F 3196 1 ot s
£
(1) = 247
(2) 3174
(3) 12T
(4) 17
(5) W TE T =®d

2 2 N 48.

48, X _Lg@ X TV smwmem.

3 2 e

m
@ 3

- 10
B

k3
@
(5) IWAH & AR

VNATH / F1
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Two numbers are in the ratio 2 : 3. If their
sum is 125, then the numbers are :

(1) 50,75

(2) 24,36
(3) 20,30
4) 32,78

(5)  Not Attempted

A and B started a business by investing
¥ 22,500 and ¥ 35,000 respectively. Out of a
total profit of ¥ 27,600, B’s share is :

(1) 216,800

2) 19,200
(3) 10,800
) 214,400

(5)  Not Attempted

If the length of the diagonal and the area of a
rectangle are 25 m and 168 m? respectively,
then the longer side of the rectangle is :

(1) 24m

@ 31m
@) 12m
@ 17m

(5)  Not Attempted

2 2
If ﬁz}_,thenthevalueofx_z_i is:

3 O -y
-5
I
-5
@ 3
~10
e 9
5
@

(5) Not Attempted

49. 2 HENH F HCF 28 % ol 3991 Lem 336 2,
IfE Th HeA 112 2, A g T w

(" s4
2 92
@) 34
“4) 64
(5)  IW A A AR

50. T8 U Ul § THeH FI T S WG 2, 7 3
20% =g fae w1 21 Afz 3m % 1,600 fau d fre 4
A BA-H 0 38 BT F T A F s g
??

(1) 1,920
@ 2,000
(3) 1,280
) 1,600
(5) IR AW

51. TR EHHH A, B H 20% 9 F7d Fa1 ) afz A
Ferelt e 1 7, W & QU T, @ B v A

I foma w7 § g o a2
(1) 6%

(2) 6%

(3) 5w

(4) 5%

(5) WA AR |

52. 17 W H X 720 ¥ 991 W, 5 7 F w4 7 F
RUEIE R R IR X E LR kS

49, Th;HCF of two numbers is 28 and their LCM
18 336. If one number is 112, then the other

number is :
(1) &4
2) 92
B 34
4) 64

(5)  Not Attempted

50. Arun'buys a pair of skates at a sale where
the discount given is 20%. If the amount he
Pays is T 1,600, then which of the following is
the marked price of the pair of skates ?
(1) 1,920
(2) %2000
(3) 1,280
4 1,600
(5)  Not Attempted

51

A does 20% less work than B in the same
time. If A can complete a piece of work in
7% hours, then B can do it in :

(1) 6hours
(2) 6% hours
(3)  Shours
(4) S%hours

(5)  Not Attempted

52. On selling 17 balls for T 720, there is a loss
equal to the cost price of 5 balls. The cost
price of one ball is :

(1) 255
2) %60
@) 245
@) TS0

(5)  Not Attempted

Page 12 VNATH/F1

(1) 255
2) 60
@)+ 45
4 250
(5) WA M=
\ S Nl
3 2
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' 56. Choose the correctly spelt word. 61. Choose the alternative whichdb_e:t expresses
25 _ X | then the value of xis : (1)  humoros the meaning of the underlined idiom.
53. =l [; 4 % =1+ é B, A x T B 83. If \jl B 44 e 12 (2)© humarous They sold their old house because it was
‘(2: :umorus a white elephant
umorous
1 13 m 13 (5)  Not Attempted (1) very comfortable
(2) collapsing
2) 17 2 17 57. Find out the antonym of frequent’. (3): very large
(1)  fear (4) useless
@) 1 (2) alarm 5)  Not Attempted
‘ @ 1 (3) rare ® P
4) return " .
4 5 @ 5 ( 62. Find out the synonym of the underlined word
# (5)  Not Attempted in the following sentence.
(5) IWAE TMEER (5)  Not Attempted 58. Choose the alternative which best expresses To travel hopefully is a better thing than to
the given sentence in Passive Voice. § d the is t
The accountant took the cheque from the 'al:;nve;l:.rglhge:::ue siiceessdsito labat.
customer.
ice i 2) carelessly
54. The cost of type - I rice is ¥ 15 per kg and of 1)  The customer was taken the cheque b ( X
54. WER - | F 9= F1HAT 1suﬁrﬁ$ﬁm§wﬁﬂ type 11 vice 1s % 20 per kg. If rice of both ( the aceamtany eque by @) rationally
T - 11 F e g < 20 WA e ¥ afg types are mixed in the ratio 2 : 3, then the (2)  The cheque had been taken from the (@) positively
I TR % e # 2 : 3 H e wn @, @ fago cost price per kg of the mixed variety of rice customer by the accountant. (5)  Not Attempted
. is : The ch i
w1 ufd fremm g € - 15 © by eﬂ;:e ;32:‘:: :;nlkten from the customer 63. In the following question, the first and the last
(1) 1850 (4)° The cheque was taken from the part of the sentence e nun?b_ered S; & Se.
(1) T18.50 customer by the accountant. The rest of the sentence is split into four parts
@ 19.50 (5)  Not Attempted fmd named P, Q, Rand S. Th'ese four parts are
jumbled. Re-arrange them in correct order.
2) T19.50 e
9 . o - today in many countries
59. Change the following sent t dire 1~ Bven
@ z18 3 18 speeci. &)SEhiehce into indirect P - neglected an_cl there are far
@ 19 Shakti said to his friend, “Look out! There is Q - women continue to be
@ 19 a snake behind you”. R - who have had the benefit of
S Not Attempted (1)  Seeing a snake behind him, Shakti S - fewer women than men
(5) SWAA T ERAI ®) . SHp asked his friend to look out. Sg - education and vocation training
(2)*  Shakti warned his friend that there was () RQPS
a snake behind him. 2) SORP
N Rich divides (3)  Shakti told his friend to look out as :3' PgRS
. e & N 55. The greatest number whic ivides e there is a snake behind him. N
5. 33/ FA 7 FEw Ak 44@4?{3@3@“@1 greatest 3-digit number and the greatest (4)  Shakti exclaimed to his friend with 4 QPSR
F1 fauiferd #33 arci gad a1 F@An e 4-digit number, exactly is : surprise that there could be a snake (5)  Not Attempted
s ©) 32?2‘&:;”“{8(1 64. Choose the correct alternative to improve the
1 8 P underlined part of the following sentence. If no
e b @ 5 60. Fill in the bl with suitable alteriative, provement is required, your answer is (2).
You will not overtake him unless you Passengers are requested not to sit on the floor.
@ 3 3 3 (1) play ) (1)  requested to sit
l‘?’:]’ rtlaadmg (2)° No Improvement
sleep 3) to not sit
4 7 @4 7 R . ( not si
¢ g: :ai:gm‘:kiy d 4 to not to sit
(5) IR AE & A (5)  Not Attempted ot Attempte (5)  Not Attempted
VNATH/F1 3% w1l 3 fere z2rter / SPACE FOR ROUGH WORK Page 14' VATH/F1 T 1 % fore 2t / SPACE FOR ROUGH WORK Page 15
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65. Pick out the part of the sentence which has an | 70. 'gd @ 3
error. If there is no error, your answer is (2). WEWWWW%‘
This is the third communication I have sent / (1) e .
(Aa) @
and I am much surprised / @ aifea
i ® (4) difo
at receiving Nno answer _ ©) m?ﬁé’ﬂiﬂgﬁl
1 © “ 71. o e e G W A, 3 @ E -
(2)* No error 1) fgm
(/Y] (2) r=EEE
@ ® @)
(5) Not Attempted @ w
66. ‘@edt M H w9 G’ Gersl I gaitus Iugw 79 (5) SR AE & A |
- 72, ‘Fresmen’ & @ @ F AT waifan SR IS
(1)- TS H AN S 2
(2) ofe= < | &9 g ) frn
(3) Aty 3=a S (2) femm
(@) ITEVE FE FEEE T @) frsmm
(5) W AE A | (4) fremm
67. RumfsafriaaFYS TITE 2 (5) SR TE A |
(1) "FRFEATBATREI 73. faw e g faeed # i &1 9 €9 82
2 vEATETEEAw@E 1) g
@) v 3ie <fas w AR gag E (2) U
@) R WA R @) geF
= 4) SEA
,{5) waz’féma‘raa: - . (5) IR A AR
68. maﬁtw%a‘ﬁaﬁaw % foru waffues s9g=a - Ferit 91 o 2 g TR I’ A SrEE
T I E - ofie § ST
(1) T (1) TwId STARR H
i (2)) TN SAHR H
@ (3)  3UHI SRR A
@ R (4) SIS SAFH
(5) I AL A =D | (5) S
69. ST’y F A & A el Y T E - 75.  FF-T A HA FE F IR L2
(y (1) 2fer st EsH |
(2) TEE (2) WYTAWASA R
@ Tw @) T masad #@
(4) wEw (4)  IE S TG
(5) I AR A A& | (5) S FE & A
2% @14 & fe1w 7aTe/ SPACE FOR ROUGH WORK Page 16
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76.

77.

78.

e o T % sfarfa &2
(1) 9=

(2) ITES

(3) T

(4) =fmom

(5) S A AR |

Frerferfad & 4 %1 afam % wga w saes
forett & & o i %2

(1) 37T

@ wrE

@) faw

(4  Era

(5) I & A

ot = 2022-23 % foru, wfeamm w7 § @ F
fore F1 = &1 fova whawr smafed farn T 32
(1)  85%

76.

77.

78.

79.

80.

Neemrana comes under which State ?
(1) Punjab

2) Uttarakhand

3) Rajasthan

4) Haryana

(5) Not Attempted

Which one of the following is not amongst the
major cotton growing districts of Haryana ?
(1) Ambala

(2) Rewari

(3) Sirsa

4) Sonipat

(5) Not Attempted

For the financial year 2022-23, what is the
percentage of the total expenditure allocated
towards Health in the Haryana State ?

(1) 8.5%

(2) 58%
(3) 14.2%
4) 62%

5) Not Attempted

How many districts are there in Haryana ?

(1) 23

(2 24
3 21
4 22

(5)  Not Attempted

To promote the ancient Heritage of Pinjore,
two festivals are held every year. One is the
‘Pinjore Heritage festival’; which is the second

one ?

(1) Mango festival
(2) Lemon festival
(3) Orange festival
(4)  Dates festival

(5)  Not Attempted

(2 58%
@)y 14.2%
4 62%
(5) S AR I AR
79. eftamn ¥ fhed ot &2
(1 23
(2) 24
@) 21
@ 22
(5) ST A = |
80. fUSiR =i wr=i= fawrea =1 s 34 & fog wfqad <
TRICH TAIT S €, T e df fisiR forea weee
¥; T Wi FH-HE 2
(1) o R
2y g mErwa
(3) Ha Herwa
(4) @R e
(5) S AR o =@ed |
VNATH / F1
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81.

82.

83.

84.

TefafEd F § wfEmT F wE-w g S o
A d TE_g © 2

(1) wm

(2 Tm™
(3) uEE
(4)° W@
(5) SR AT |

82.

sfearn o & 759 w1 1 feadt @2 ¥
1) 6

2 s

3 8

@ 7

(5) I AL & =T

g&g H3 grfaeic] GeE Frer grI fehet Afori 1 | g
Y-S & 9 Fd F7 & Ficier fHaH 1 sfifa

fepan ST 2 2

(

1) 4

2)° 5
@) 2

4 3
(5) I T A |

TR for et feer £2
) H%?’TE 84.
() dEE

@ feg

4)

(5) IR & R |

81.

Which of the following dance forms of Haryana
is associated with Mewati tribe ?

(1) Phag
(2) Gugga
3) Dhamal
4) Ratvai

5) Not Attempted

How many Rajya Sabha seats does Haryana

have ?

1y 6
@ s
@3 8
“@ 7

(5) Not Attempted

Mukhya Mantri Pragatisheel Samman Yojana
is to motivate the progressive farmers for
adopting best agriculture practices in how
many categories of land holding ?

1 4
2 5
@) 2
@4 3
(5) Not Attempted

In which district is Narnaul situated ?

(1)  Mahendragarh
(2) Rohtak

(3) Jind

(4) Kaithal

(5)  Not Attempted

VNATH/F1
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g5, frefafaa wuet o fa=m #ifsw 85. Consider the following statements :
(A) a1 Hifea TEETT FrEATENn H3) (A) Nada Sahib Gurudwara is situated in
. Ambala.
(B) T T Tegr = A F q2 A E ) (B) Nada Sahib Gurudwara is situated on
ITfe B A FH-H1/A Fo w@ 2/ E? the bank of river Ghaggar.
) () W(B] = Which of the above statements is/are
. N s correct ?
@y T (A) JAE (B) (1) Both (A) and (B)
@) (A) (2)  Neither (A) nor (B)
(4) 9 (B) (3)  (A)only
(5) S A AR (4)  (B)only
(5) Not Attempted
86. EfAT ¥ wfeensii g etel e v % fob oy H
T T R 2 86. Boojali, an ornament is worn in which part of
: the body by women in Haryana ?
n = (1) Foot
2) - (2)  Nose
@) @ (3) Ears
@ (4) Forehead
. 5)  NotA
5 s | (5) ot Attempted
87. frefafad e w famr Fifm - 87. Consider the following statements :
" (A) Rohtak has a Police Commissionerate
(A ew ﬁ'ﬂ T SR e 71 located there.
(B) Grud ¥ gf?m g feord #1 (B) Sonipat has a Police Commissionerate
mﬁ’@’eﬁ?f'ﬁ[/'@ Eﬁﬂ?‘qﬁ%/%? located there.
. ; Which of the above statements is/are
(1) (A) R (B) 3 correct ?
(2) Ad(A) IRAE (B) (1)  Both (A) and (B)
3) FaA (A) 2) Neither (A) nor (B)
@) % (B) () (A)only
(5) I T T ARd| *) (B)only
(5 Not Attempted
88. foa foei # ww T e ferveforaner feem &2 88. In which district is the Indian Nationa
(1) wieER Defence University located ?
@ e (1)  Faridabad
. (2) Karnal
3 Rk TG]
©) (3) Panchkula
4 Ted qN R 4) Gurugram
(5) I < ARSI (5)  Not Attempted
VNATH /F1 ¥ Bt % feTE Termet / SPACE FOR ROUGH WORK Page



In the Mahabharata period, which term was

89. mwmﬁzﬁm%mmwmmm 89.
™R? used for Haryana ? 93 .
. A . tramaxm ‘qg;m‘m % Tafa #A &2 93. n/]ho WI\:S }:he author of epic ‘Mahabharata’ ?

areHifH aharishi Valmiki
Kk
@) m (2 Haryana (2) + wefd dT=TE (2) Maharishi Vedvyasa
(3) efREw (3) Haribanak (3) =M™ (3) Magh
(4) - WET=E (4) Bahudhanyakya (4)  fees (4)  Kalidas
R T P — (5) Not Attempted (5) S M | (5} Not Attempted
94. frefafaa & @ farea eftamn #1 &k @ s zH § | 94,
g . Wh i

90. ‘3’ =iy wfEmn § frg @ w ¥ 90. ‘Ottu’ barrage is on which river in Haryana ? T e o ? Har;::;oi:g;;riﬁeTizl:;‘;l:g did not play for
() - =@ (1) Tangri (1) ufee e (1) Rajinder Goel
i ) Ghaggar (2) TR TR (2)  Sarkar Talwar
3) Fg (3) Yamuna :z: ;:g ((j; :\:an.;n;er Singh

q ) wfaa apil Dev
(4) wfean (4)  Sahiba (5) WA TR (5)  Not Attempted
5) WIS TmEE (5) Not Attempted
95. Hehol Tod =Re] 3R (S T €t : 95. Consider the followi
» - ¢ ‘ TEE W) FaR G Frefaran St Dome:t;)c gr“:gﬁ :ﬁg;;:$ about Gross
01. fretrf - ey 91. Consider the following statements : ) (A)  GSDP of H: i ).
a EUSETIE L4 A m aryana
(A) TR 3R TR w5 g et ¥ Ay (A) Sonipat and Jhajjar share border with * st ;‘“ e A e 5 o T A Bihar. 19 more than that of
N Tt Delhi. i (B) GSDP of Punjab is more than that
o f
- e Sty (B)  Rohtak does not share border with Delhi. ® 3’;@@ BRI AT R . Haryana. e
e sl LSucif ] . Euicadl ich of the abo :
- Which of th : e ve statement
STE H F FE-T/F FA w@ /€2 cox;:c:; e above statements is/are S 8 & A o :_.lomct? s is/are
N - : ) Both (A
1) () 3R @) (1) Both (A) and (B) (1) (@) 7 (B) peie () and ()
i A (2 A (a) sRAH (B either (A) nor (B)
@ "9 @A) SRTE B (2)  Neither (A) nor (B) e . B (3 (A)only
@) - Fa () @ (A only o B (‘B: @ (B)only
@ FaE(B) @) (B)only PG — () NotAttempted
(5) IR TE A | (5)  Not Attempted 96. Consi
- sider the followi
96. ;T‘i:'ﬁ?w TE (A TE ) F Fe F Freferfad § of National secuﬁxrégu::;ser&esng ;m seapect

92. 94 F m T i wfag g T3 F s 92. In which month of the year, the famous ~H1 HYF & 72 (A) ﬁperan’onal Headquarter of NSG is in
o § g & 2 li‘“’aJkund mela is held every year in (A) T A ST AT A # B o
o aryana ? ® q‘-{ < i e ¥ frd N (B) &?;Bis(;om:f:nder the control of Union
— (1) October I T F BT F w2 Which of tr;' ome Affairs.

@ (2)  February (1) (A s (B) 2 comeets T ove sitements is/are

@) W= (3)  March (2) Ad(A) IRAA (B) (1)  Both (A) and (B)

@) fogar () Decomber (3) Fad(A) (2)  Neither (A) nor (B)

(5) I A T Awd | (4) Fad(B) (3)  (A)only

(5)  Not Attempted 5) 5 (4)  (B)onl
VNATH / F1 T BT & feTe TTet / SP (5) S M = | y
ACE FOR ROUGH WORK (5)  Not Attempted
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97. TRt diwd frg A % fou ufgg §2 97. Garima Chaudhary is well known for whijcy
(1) ot sport ?
2) s (1) Wrestling
3) @ (2)  Archery
@) g (3) Judo
6 (4)  Kabaddi
(5) Not Attempted
o :T)qf\af::‘ :ﬂz:jq ST W T g 42 98. Which amongst the following is the State Tree
of Haryana ?
(2) 9T 1 gy (1) Mango Tree
(3)- R F gy (2) Sal Tree
(4)  ufest s (3) Banyan Tree
(5) SWAH I = | (4) Sacred Fig
(5) Not Attempted
99. =few et sy ft i ol e ¥ feg
ISR 99. Indira Gandhi Super Thermal Power Project
(1) fear is situated in which district of Haryana ?
2 fie (1) Hisar
@) =R (2) Jind
AR (3) Jhajjar
(5) I M) Sirsa
(5) Not Attempted
100. Ffefad # & 1 g W w1 gatao, 79 sk
o T 100. th among the following is the Minister of
O s M g)?a\ilero?nment, Forests and Wildlife of Haryana
2) & T =eren (1)  Shree Mool Chand Sharma
3) &t e fast (2) Shree Dushyant Chautala
PP Se s (3)  Shree Anil Vij
6 W ne Ty (4) Shree Kanwar Pal
(5)  Not Attempted
-00o0-
-00o0-
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